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1 �!
�� ���^ �]
4 ��_� %
&'� `. ���
��� =>��&�� H
��=A
"�� a�� 3 
#9�8&� �"' �b�� 
�c ��� =O$�� 3 2.  

1 �����  

 �
P��� 3 ��+
Ke� H
f J�Z� *�V0 :
�g h
�9$� �
�9��A i
";ELF� VLF� LF.  

jF
�� 7
��b 5,� ��]���� kl; �
�&�. �� f cos i m�
[�� kHz 150 . N]�� 	� T��\S �
�&��� kl; H
���!
�
 -' ��D� Q�� ��������kHz 150 ��]���
G 6ITU-R P.1147�!�+��
� �������� kl; H�
"�� .  

1.1  �9��A"��DE9�� "�n� Q�� o$� L;� M89��.� M!�. �� ����&"p.�#q�� �b
&�� ��R�� L!�"; M�rs 
#�G M���
��� �
P��$� �8�"�
� H
^� �; 
�c ��"��. ����.
q�(HF).  

 ����.�$�q�� �
P��$� �9��&�� kl; M����n� �� tu(LF) 1� �
G
��$� �8�"�
�� �km 1000 ����.
�R�� �
P��$� 
(VLF) . ��rc� �� �F�� *RE!�0��� v
q�0� �&!��� J��w �"��. ��R�. t�F 5�� *������� H
!+e� �� �9��&�� x����

�bE"��� ������ ��c N$' 7
���rc� �� J�F�� JDEb N$' *�&"� ��y+� �P�. N$' o�lc�  . �; �
�e� H
I� ��q� l>�"'
R�. Mc -' �z
"�� �	
[�$� L#[��� {�
"�� . ��
F |q' N$' �tu ��!�+��� }�y�. �
P��� H��A� ~�� 7��V0�

n� �� �����.
q���� �
P��� N$' �
P��� W���0� +
8�'	� 3 l4�T+S� �&!.� ��DE9�� �9��A +xn� �� -q��  �
��� ��q

#". xc� �� �
P��� H��A� a�� *�
�� �$>
. ��+� ����m `. +
Z�0	� /�G 5�� *l�� }
E�+	� 5�b.  
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�9��&�� kl; H
���!
� RE!�0��S� �� J�+���� �P��� v
q�0� �
.
��� 5�b �G��. *+��,�� -. . 7�Rrc Rp�� 5�9�� kl; -q�
 t�F J+���� J��G� M�E��� �'
���� �H
!+e� ��R�� ��y+S� ����&"p��� ��G��pB� �
����Fe�� H�&��� ������
����Z�� . ��>
��#q�� �>
��� �G��. o�lc *+��,�� -.�)��F
����� ���
��e� ( �H
89�!	�� H
!+e� `b��. �"' T+U�

� X�e *������ `�m���� N$' ���� T+S� ��F
� ���+
&�� �
�>��; �
'
�K.  

2.1  �9��A M����n� �� tu"P��� ���S� t��
!��� " -. xcS� �
G
��� �"' ����.
�R�� �
P��� 3km 1 000 . 3�
T+� LP��� M����� 3 +
Z�0	� -. �E$���� �
YS� -. Mq� �$�
9�� �
P��� }��f /0� N$' +
Z�0	� M$� ��9��&�� kl;@

!�0���P��� ���U� ��w :�$!� `. M�
���
� �RE����p��� �
P��� 3 � . :
�^ 
�
���!� tu Q�� �9��&�� +
��4� �b����
���b+ �
�
�^ ��$�' ��+
8�'� N$' H
I�.  

3.1  ����.
�R�� �
P��� ��
F 3(VLF) -. Mb� �
G
�. 3 �km 1000 �8�"�
��  h����� N$' ����.�$�q�� �
P��$�
�
0�q�� -. R8c ���� ��#[�. �G
y�� h
�9�� �
�
�^� tP���� l>�"'� %�8� t��
!S� �$�$! :+
9�� . �4� 10
P -.

 J
'��. `. 
�
���!� ����� ���y+S� �P��� o�X 3 
� ���R��� -. ���w ��' ~�! t$&�� 	 ��DE9�� �9��A ��G
�
P��� +
Z�0	 �]
4� o�X -q.� �� W���0	�J���8�� �
G
��� 3 ����.��q��� ����.�$�q�� .  

 -. xcS� �
G
��� �"' ����.
�R�� �
P��$� �8�"�
� 
.�km 1 000 ���V0 ��G � ��#[�. �G
y�� h
�9�� t$&�� ��DE9��
� ���+
9� ��q� Q�� t��
!S� M!
! �� 
�� �o�X |q' N$'� ���R��� -. R8c ��' -' �z
"�� �	
[�$� -q� ��'��

�9G t��
!S� a�� �G
y�� ��G
c �b� N$' H��^� .kl; +
Z�0	� ��
^ �.%
. �rc� t��
!S� ���V0 ��G o�l� . -q��
��F� LP�. M��� :�$!S 7
9G� 7
,�� 7��P �$��&�� �
P��� +
Z�0� �]�.  

2  �����	
� �

���� �����  

1.2 ��� ���  

n���RE!�0��S� �P��� H
f x�� 
. �&90 �"' )+�&��� J�Z�� ( Q�� �
P��� �$�� -' �9r8"�� �	
I� {�
0 /0� ���V"�� kl; 3
�rc� �� J�F�� JDE9� �M!��� -. J�K
8. ��Z�0� . �P��� -' 5P
"�� H
I� {�
0 �&9"�� kl; �"' �
�e� H
I� ��q� l>�"'

�P��� -' 5P
"�� H
I�� T+S� �&! N$' �P��"����RE!�0��S� .  

 +
�� W
.���� ��!�"�� �
���8�� =>��A 
#�G =8&� Q�� =A
"�� 3 ��KS� ���V0 =�8&�� ��RE!�0��S� �P��� H
f :
�F 5��
�^
] ��� � �
���8�� ��F =A
"�� 3 M.
q�� H
I� ���V0 =�8&�� �� W���0	�.  

 MqZ�� Mr�1J��F� JDEb -�,�� R�. �!�"; .  

�� �&!��� T+S� �&! �a = r �"' `9� ��V�". ��RE!�0��� ��c
' �98A� h + a = r . �
� �� D������ M#��� -.�
�	
F . �"' `b���� H
89�!	� L>��; ��q� ��S� ��
^� 3R<�%
,. �
� 0	 1�,4 Q�� ��RE!�0��S� �P� -. v
q�

 H
!+e� L>��;�� �"' `b��T< ��F ig -. �p]� π/2 . ��P�^� ��&9"�� �"' �
�>���� `9� ���0
r�� ��
^� 3�Tc� Rc ��F 
π/2 = ig. �"' �
�>���� `9�G �r�
r�� ��
^� 3 
.� T>� R> ��RE!�0��S� �P��� H
f �� ��g ���P�^� ��&9"�� %�+� 
. �

 W���0	� �9&". 3 �Z�"� ��S�)MV�� �9&". 3.(  
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 �����1 

��� ����� 	
��
��� �����
��
 ������
 ����� � �����
 )����������
 ���!"� #$�
 %��
�
(  

  

  
2.2 ��	
� �
� ����� �
� ���� ��	 ��
�  

�&!��� R�b L>
��#c :
&b� L>
"� 
#�Z� Q�� L>
��#q�� H
I� J�K -' R8���� -q�:  

(1)  
tu
pV 300=                 V  

 ��Fpt ��Z�� J+�9�� N$' H�� (kW).  

�&!��� �H
89�!	� L>��; +��� T+S� N$' v
q�0	� M8b ��&�
�� ��RE!�0��S� �P��� H
f J�K N&�n�:  

(2)   mV/m   ψ cos |||| t

u

t
FDR

L

V
E =   

��F:  
L:   ��RE!�0��S� �P��� R�. H�A(km) 

||R||:  ��S� v
q�0	� M.
�. *���. �� ��m���� L>
��#q�� H
I� �
0�q. �8�0 L&�� *l�� *RE!�0
��+���  

D:  *RE!�0��S� R�8��� M.
'  
Ft:  H
!+e� L>��; M.
'  
ψ:  L9GS� *����$� �8�"�
� T+S� �&! N$' ��RE!�0��S� �P��� H�]�� 2
&0� ����m  

*����� 3 Rp] *��' L>��; �&!��� H
89�!	� �
c �X� �P��$� ��
�E�� H
I� J�K ��G �T+S� �&! N$' `9� 
�&!��� N&�n� ��RE!�0��S�:  

(3)  mV/m    ψ cos
2

|||| rt

u

s
FFDR

L

V
E =   

0684-01

r = a + h

r = a

T>

Tc

T< R<

R
c

R>

i
g
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 ���
��� H�O�� �R�b *���' L>��; N$' H
89�!
�3�� :  

(4)  mV/m    )ψ (cos
2

||||
2

rt

u

s
FFDR

L

V
E =   

 ��FFrH
89�!	� L>��; M.
' L; .  

 �8�"�
�� �JR8c �
G
�. N$' +
Z�0
� ���. J�' �!�q��� ��RE!�0��S� �
P��� M�Z�� `!�n� �� ��DE9�� �9��&� -q
RE!�0��S� N$' . L>��; �&!��� �$89���� H
I� J�Z� -q� ���DEb ��X ��RE!�0��� �P�� �8�"�
� �H
r�� M�8! N$�G

�
��
c �A
�8� Mr�n� �� H
89�!
� *��':  

(5)  mV/m       ψ cos
2

||||
2

||2||||1|| rtgG
u

s FFRDDRR
L

V
E =   

F��:  

  DG:   7
8��9� *�
�� �����q�� T+S� -' {�
"�� �'
8��� M.
'D
−1  

  ||Rg|:   v
q�0	� M.
�.J���w �$]�. T+S H
�E��  

  L:  �e� +
Z�0	� ��DE9�� *X }
�Z�� R�. N$' �
  

  ||R1||� ||R2||:  �
r��� H�S� �!
q�0
� *RE!�0��S� v
q�0	� 
.
�..  

 ��q� 	 �h����� N$'�$�� J�+���� �
P��� :
&9�!� �P+� �S ����
��. *RE!�0��S� v
q�0	� �
.
�. . �o�X `.�
�&��8�� �9��&�� ��GH
I� ���K :
�^ 
"; �F��9��  +
Z�0	� Q��b �G
q� 
. N$' H��^
� ���� ||R1|� ||R2 ���9�c 

�$>
. �P ��+� 
���D� ���.  

1.2.2 � 	
����
 �
����� 
��
����������  

 �
qZ�� Mr�2� 3 ��y+S� ��RE!�0��S� �P��� H�]�� J+�
p. Q���m ���O�� }
�Z�� R�. �!�"; (ψ) 
���D��� 
 ��+�$� ��RE!�0��S�(i) . MqZ�� M�
9�2 �$8� v
q�0
� H
�G }
E�+� ��
F km 707�+
� ��&�"�� ���V�� Mr� 
� � M�
9�� 6

 MqZ��3�G }
E�+� ��
F  �$8� v
q�0
� H
km 907
�� ��&�"�� ���V�� Mr� 
� � . Q���m N$' *�B� +
�q0	� +
�� ���
 1� ������$� �^
] ��q� 	 �b L;� 6`&9��� �O"�� �&!��� �$r�� �P+�. H�]���� J+�
p��kHz 507
8��9� .  
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 �����2  

 �������� �	
��
� ������ψ������� 
�	��� ������ � ����i � 

 ���� ��	�� ���� �(km 70 = h)��!� 	�"#�$� 	�%& '�(�
� )*+
� ,-���   

  

  

ψ
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 MqZ��3  

 	
������ �
����� ������ψ 	���������� ��
��� ������ 	i 	  
 ���� ����� ���� !(km 90 = h) "#���� 
�$%�&� 
�'( )�*��� +,-�� ��.  

  

 

 

  

2.2.2 "�/����� 
�0��&� 12�� �$�� 
�3  

 MqZ�� ����4 ��RE!�0��S� �P��� R�. H�A :
�g L+�&$� ��+
#"�� ��Rp��� ���9��  . +
Z�0	� 1b� �8� �#G
 �� 1�,4 Q�� ��RE!�0��S� �P���� ��O&��� �P��� �� L$y
E���1 �� 2 �� 3 �"' �RE!�0��S� N$' �
!
q�0� 

 �
'
E�+�km 70) +
#"�� ���  ( ��km 90) M�$�� ���  .( *�
�� +
Z�0	� �'�! �� T��En��km/s 510 × 3.  
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 �����4  

�� ����� ��	
 �� 
������� ������� �  
���� ������ ���!� �"#��	�	"$ %��	
�%����   

  

 

3.2.2 �45��� 67�#  

 �
qZ�� Mr�5� 6
#"$� ������ N$' 
_� �+� M.
' �M�$��� � �*RE!�0��S� R�8�D����c RE!�0���� T+� ��
F 3 �.  

4.2.2 8��9��:� 67��#  

 �
qZ�� Mr�7� 9 L>���� L$.
' Ft� Fr �&� N$' J���w ���
��� ��X ����c T+� ��� +
8�'	� 3 ��l4�� -�l$�� 
�� *������ }
�Ke��H
89�!	�� H
!+e� L�> . �&!��� �G���� ��$B�� �O8��� T+S� �	
^ �$.
��� -�l; :
�F <
 ��>
��#q�� 
#�>
�4)��F
����� ���
��e� ( H��B� o�X �8� 
�c1.  
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�+, *����  
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���
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 �����7  

 
/�	0� *
�+–1�)�� 2�
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t
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�
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F
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F
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 �����8  

 
/�	0� *
�+–3�'�   
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F
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F
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 �����9  

 
/�	0� *
�+– 4.+ 4��5� C °4− 
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F
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 H��B�1 

 	����;�<�  σ 

(S/m) 

 	��=�>$�� ε 

��'
*���   5  80 ε0 

+%��  2 × 10
−3

  15 ε0 

,-��� ��./�  2.5 × 10
−5

  3 ε0 

ε0 :��� ������ 	 
���
��� 

 

 

 �$8� T+S� �&b ��0 �� T���G
� �
�"O"�� kl; 1�+km 8 480 *�
�� 
� 4/3� /���b  +
�� J
'��� o�X� ���9�9^
*�B� +
�q0	� . M.����� MrsF7
��
r. 7
]�. T+S� 10
c �� v
9�! 10
c Q�� H
I� �� L$�E�� H
I� J�K �8�0  . M���
 �� �8�
��� 5�9��ψ J�F�� JDEb ��X ��RE!�0��S� �P��$� L!�"�� *��8�� �^� ~�. %�+� 
. +
Z�0	� �� )
qKS� �V0� H

1  ��3.(  

5.2.2  ���������� ?�%@�&� 8A7�@7||R||  

 MqZ�� Mr�10 5�b ||R||L��Z�� �
Z"$� ���b ¡�S  .�G
���� ������ t�F ��Rp��� +
8�'	� 3 l4�n� Lq�n� � 5�b N&�||R|| 
 ��	��f cos i � ��Ff �; � M!��� ������i*RE!�0��S� ��+��� ����m  .
�"O"�� N&�¢�� H��E�� Mc 3 ��$�$�� ���V$� �

7
E�]� �%
�K ��+
#"�� ���V$�� . J�' 3 J�+���� {>
�"�� �� M>
�� ��+��� 
���m� *������ ��+��� 
���D� ���9�� 5�9�� �"����
��+
9�.  

�F J+�cl�� `P���� �$�� 3 J�+���� *RE!�0��S� v
q�0	� M.
�. �
�&�. R�p� < �	
^� `�� 3 o�X� �%
,�b	� t

"; �$������ M�$O��� ��"9� `. �9�
&�. �
!
�9�� {>
�0 ��q� £F 
;R\� L>���� M.��'� *RE!�0��S� R�8��� J
'���.  

 H
�E�� ������ h�#E. N$' �
��'	� 7
�>�� -q� 	 /0� R\f cos i���
� v
q�0� �
.
�. `.  . �
�"O"�� 1[�0 �b�  
qZ�� 3 J�+���� M10 *�
' /8K ��+� �"' 
#�$' H��^� < �
�&�. -. 7
b
&0� (km 200 > d)  7
�. �rc� ��+� �"'�
(km 500 < d) h�#E. ��q� �� M��¤� -.� f cos i �
G
��� kl� t��9��� /P� N$' 7
O�O] . �&�!��� �
G
��� �"' -q�

� �O$. %
&4� �� H
�E�� ������ h�#E. *��� �� �P��� -. �P��$� :
&9�!	�� v
q�0	� M.
�. �S v
q�0	� M.
�. 3 
�G
��� Rp� `. �'��� Rp�� ���V�� kl; 3.  

 MqZ�� �
�"O". N$' �#V� J���' �
�&�. 10
c �X�10 �'
��� ��	�� *RE!�0��S� v
q�0	� M.
�. ��Rp� Mr� 
� 
 h�����)+
#"�� ���".� M�$�� ���". �"' ( ��G �M�E���F i
";�¥� R�E�� JRrc H
�'� �� �P
 ��Rp��� kl� �9�b��� ��

L��Z�� �
Z"�� J+�� H
4 . ����Z�� J+���� 3 7�Rp� i
"; �� �y���� -.�) MqZ�� �V0�11 ( v
q�0	� �
.
�. �� X�
xc������� �"' �p]� L; 
�"�� �7��P �,E�"�� �������� �"' N�bS� L��Z�� �$q�� ���"! 3 �&!���� �� .�� R�E��

�
��� �; o�l� L>
�D�E��:� ���"! H
4 0��S� J�'
b ��q� �L�¦ �$c N�b¡�� RE!� �
�0���q�e� �G
rc W+�� M�.� 
L�¦ �$c ¡�� ���"! H
4 /�$' �; 
� xc� . �
P��� ��G �lq;VLF ��q�". ��q� 
�0��� �98&�� kl; -. ��q�"�� 

 ���"! 3 xc� J�9� �
P��� 
�"�� �L�¦ �$c N�b�MF�rc� 
#]
��.� 5�� 
�0��� �98&�� kl; 2�G ��q�"��  . -.�
 �'
!� ������ ��	�� ��q� ��� `b��n� ~�p���� ~xq�� v
q�0	� �
.
�. �� H
9�0	� �� �y���� J��G� M�E��� h����

����Z�� J+���� .
.
�. �O". 3 `&9� `b�� -q� �o�X �� �G
y� �'
!� ����� ������� ��	�� v
q�0	� ��"��. . �#V��
 �� J��O"�� ��
�E�� �������� 5�b 3 �y�� Rp�35� kHz 45 ������ 3 L�¦ �$c N�b� ���"�� �9$���� �
�&��� 3 

��]���� kl; 3 �.�9�� �
�&��� 3 ��� 	 o�X -q�.  
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 �����10 

 ���������	 
��
��	 ����
�–�����	 �����	 �����	 ����   

  

  

  

 ��
�E�� �������� ~�. 3 `9� M>
�� +
Z�0
� ����.��q�� �
P��
� ��������� �'�Xe� 2
&0 ������ ~�. �� �� J+
Ke� +�z
�Z�� J+��$� |c
��� k
z	� 3 
� �8�"�
� ��RE!�0��S� ��!
q�0	� Rp�� Q�� ���� �P�. +
Z�0� ��G ~�4� J+
8�� 6���  

kHz 1 600 R�. N$' km 1 500 ��X ��
�G ������ �P�. +
Z�0� M�
9� kHz 278 ������ 3 H
�E�� ������ *�
�� 
�"�� 6
kHz 500 +��9. kHz 86 . =O$�� L&���1}
�Z�� R�. �9��&� :
�O$� 7	
r. .  

0684-10
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 �����11 

 
��
��	 ���
� �	�!"(dB)�  #$% �	��� &  
'(��	� )�
��	 $$�*�	 +���, ��- ./0 12(% �	��� 34  

  

  

3.2 ����� ���	
� ��
� ��� ���� �����
� �����
�  

1.3.2 �� 67��@��� �$�� ��B-C��D���
� EF�  

 MqZ�� �8�12���� R��� �!�"; ^� 3 
§
'��. Lp8"� Q�� M.���
: .  

0684-11
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 �����12  

��5	 +���6� 7��*��	 ��	�8  

0684-12

SSN

R
c

R
c

R
c

F
r

G
r

F
t

F
c

F
c

I
L

G
w

ψ

T

ε, σ
R

ε, σ

R
g

ε, σ

El2
El

L
2

D
g

χ

2-hop

1-hop

2-hop

D-layer

70~90 km

Diffraction

  

  

 �G
��� t��� �$]
E�����
��� ���
��� �� 7��
"�!� T+S� �&! -':  
(6)  cos(a) = sin(latt)sin(latr) + cos(latt)cos(latr)cos(difl)  

��F:  
  a:  c��� ����D����DT+U�   

  latt:  M!��� T�' �4  
 latr:  M89���� T�' �4  
  difl:   M!��� H�A �4 �� 2�E��(lont) M89���� H�A �4� (lonr).  

 
�� N$' T+S� -' �$]
E�� �G
��� t���km 6 360 · a = gr.  

 H�&��� T���� 
&4 t���(latm)� (lonm) ����D� o�X� ����
��� ����
��� �� 7��
"�!� R��� ���". N$' ��b�� �&9"� 
 �"��. 1�(azt2r)�� R�� M89���� �� M!��� -. t;�l�� }
�Z:  

(7)  latm = π/2 – arccos (cos(a/2)sin(latt) + sin(a/2)cos(latt)cos(azt2r))  

(8)  lonm = lont – arccos((cos(a/2) – sin(latm)sin(latt))/(cos(latm)cos(latt)))  

��F:  
(9)  cos(azt2r) = (sin(latr) – sin(latt)cos(a))/(cos(latt)sin(a))  

 �� M�� +
Z�0� �G
�. 3 ��DE9��� J�F���� JDE9�� 
��$!� t���km 2 000 �P��$� +�&�� R�p�� �;���� J
'��. `. 
��DE9�� :�$!S *������ :
&9�!	�� T+S� �&! N$' ��q�"�� .~�! t�� 	�:�$!�  �G
�. �� �8�"�
� ��DE9�� 

 �� M��km 4 000.  


���� t�P t��� �"��. �&90 3 |�Z�� 1� ����D� h)latm �lonm(�
��� �O"�� N$' �"��. �&�� :  
(10)  cos χ = sin(latm) sin(sol) + cos(latm) cos(sol) cos(Sy-lonm)  
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��F :  

  χ:  |�Z�� 1� ����m  

  latm:  R��� ���". 3 �&90 T�' �4  

  lonm:  R��� ���". 3 �&90 H�A �4  

  sol:   M�. ����m�#Z�� -. �Z' |.
�� h���� 3 |�Z��  

  Sy:   |�Z$� *������ ��� N$' ��b�� �&90 H�A �4(1stm + 15tg – 180 =) 

  Tg:  L$¤� 1�b���� t�F �'
���  

    1stm:  L$¤� 1�b���� t�F H��D�� *���. H�A �4.  

 }
E�+	� ����m t���Ψ���
��� ���
��� �� 7��
"�!� :  
(11)  Ψ = arc tan (cot(d/(2Re)) – Re cosec(d/(2Re))/(Re + hr))  

��F:  

  d:  JDE9�� H�A  

  Re:   H
�E�� T+S� �&b ��0(km 8 500) 

  hr:  v
q�0	� }
E�+�  

 *������� R��� H�A t���P (km)���
��� ���
��� �� 7��
"�!�  :  
(12)  P = 2 Re sin(d/(2Re)) sec(Ψ + d/(2Re))  

 ��+��� ����m t���I3 ���
��� ���
��� �� 7��
"�!� RE!�0��S� :  
(13)  I = arc sin (Re cos(Ψ)/(Re + hr))  

���
��� ���
��� �� 7��
"�!� ��y+S� �P��� �� �8�0 ��RE!�0��S� �P��� +
Z�0� 1b� t���:  
(14)  Delay time = (P – d)/(3 × 105)           s  

2.3.2 ?�%@�&� G��H
� IJ��  

 H
4 v
q�0	� }
E�+� :
�^ M�����24 �98&$� ���G
q�� �
��m���� �'
! D/E �� 7��
"�!� 
� ���� N$'� t�� Q�� 
 ���9��foE)  ��]����ITU-R P.1239 .( MqZ�� �8��13 �
�"O"�� h-f) �'
��� @������ ( �� 
. v
q�0	� �98&�0 �'
! 

) -.0  ��3M�
��.  ( ��12�'
!  .��� ��G
q�$� L!
!S� ����$� :
�^� 3 t�p��� 5�b x�fb �c
� ��0 �p]S� �
 ��98&��ymin�  ��98&$� �c
� ��0 xcS�ymax � �98&$� H�A N�bS�E �hmax ���
��� 5�9$� ���
�. kHz 10� km 10   

�km 30� km 100������ N$'  . �$8� M�$�� 3 v
q�0	� }
E�+� �� ¨�� 
�km 90 (ymin – hmax) }
E�+� Mb� ��q� 
�"�� 
 v
q�0�km 70 (ymax – hmax) .c
���� ��0 N�b� ��O��� �ymax ��� �G��� M����� ©�!
F {.
0�� 3 Rp�. 
;+
8�'
� 

 �>+
&�� ��RE!�0��S� �
���&y	�(SID)N$'   ����.�$�q�� �
P��� +
Z�0�(LF).  
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 �����13  

 ����9�5	f-h�
��	 +:;< = 
�  

  
  
  
 �����14  

�>;*�	 ���8  

  

  

 v
q�0	� }
E�+� t���Rh�
��
c :  
(15)  Rh = hmax – ym√1 - (f - fb)/(foE)  

��F:  
(16)  ym = ymm – (ymm – ymin)(fmax – foE)/(fmax – fmin)   

(17)  ymm = ymax – (ymax-ymin)(fk0-fmax)/(fk0-fmin) 

0684-13
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 5�9�� t���fk0 )foE  h
���� t�B0 = cos χ(� fmax)  ���b xc�foEv
�9�� }�y�. �
q�� 3  (�foE)  �"��. �'
! 3
L$¤� 1�b���� t�F ( M�E$� 7
9G�4 . ���9�� ��O���foE ��]���� 3 �+���� �O"�� N$' ITU- R P.1239.  

3.3.2  �45��� 67�#  

 MqZ�� �8�13 J�. �
�
�F 3 =8&� *l�� R�8��� M.
' 24 +
#"�� �
�"O". �!��. k+
8�'
� �'
! ) MqZ��5 ( M�$���
) MqZ��6 .(  

4.3.2  "9��:� 67�#  

 3 ������ ��� }
E�+	� ����m �� �8�0 L$4���� H
�q�!	� �
�"O". �� 7��
"�!� H
89�!	�� H
!+e� L�>��; L$.
' t��
$�� �	
F �
�T+S� �>
�ª =$��� 
��G �E: 

  
K
�� L9�;M  1N�'�� 
O@��"9�N�D% 

(ε) 

��#�-�� ����;�<� 

(σ in S/m) 


*��� '�� 80 5 

��� 15 0,002 

���$ �&
0 15 0,0005 

 

5.3.2  ��������<� ?�%@�&� 67�@7  

 J�9E�� 3 J+�cl�� *RE!�0��S� v
q�0	� �
.
�. M��� 5��2.2
.
�. �� L��Z�� �
Z"$� ����G �
� M�
9� � : xc�
 L��Z�� �$q�� �
9"� ��') -.75 �� 150 ( L��Z�� �$q�� �
9"� L&!��� �����) -.25 �� 75 (�� �
9"� ��' Mb

 L��Z�� �$q��) -.0 �� 25 .( ��	�� �
.
��� kl; �� +
Z��fcosi) h
���� t�P ���� ( H���'	�� %
�Z�� �� �8�"�
�
���� ��) MqZ�� �V0�15 .( |�Z$� 1���� ����m h
s t�P 5�b �� «(cosχ) 7
�� )NMqZ�� 3  ( %
�Z�� 3 7��# �(W) 

 H���'	� 3�(E) ����� 3� (S) ���
��� 5�9�� N$' ��"c 3 ��8r. 0,21-� 0,375� 0,707� 0,93������ N$'  . {�"��
-' ��. ��  3 *RE!�0��S� v
q�0	� �
.
�. ���9� L$4���� H
�q�!	� =��A Rc ���b �� �8�0 fcosi� cos χ.  

  
 �����15 

���������	 
��
��	 ���
�  

  

0684-15
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6.3.2  K
�� P�# �F��� ?�%@�� Q# �R�-�� �
�$S�  

 T+S� N$' v
q�0	� M.
�. t��Rv ������ ��	�� L!���� :
&9�!
� fF��
� 7�+�9.  ���kHz�D� � }
E�+	� ��β 1�
r� 
 L>
��#q�� HD���ε ��'�"�� ���
��e�� σ.  

(18)  Rv = (n2sin(β) – (n2 – (cos(β))2)1/2)/(n2sin(β) + (n2 – (cos(β))2)1/2)  

��F:  
(19)  n

2 = ε – j18σ106/f  

� ���� 5�b �� �8�"�
� 
#!
q�0� �"' L!�+ :
&9�!� �P�. +�A ����m �¬�p� t����"��. ���� �
�$�.� }
E�+� ����m.  

7.3.2 ����������� �F��� 
�T �BU  

 ��RE!�0��S� �P��$� H
�E�� H
I� J�K ��G T+S� �&! N$' }�y�. Rp] +
A� *X L>��; 3 H
89�!	� < �X�Es {�"� 
�
��
c:  

(20)  Es = 600√Pt cosΨRcFcFtFr/L          mV/m  

��F:  

  Pt:  �� J+�9�� ���F��
� J+�9. ��Z(kW) 

 Ψ:  7�8�0 
#��� 
��]� ����m� T+S� -. ��RE!�0��S� �P��� 2
&0� ����mL9GS� *����� ��   

  Rc:  *RE!�0��S� v
q�0	� M.
�.  

  Fc:  *RE!�0��S� R�8��� M.
'  

  Ft�  Fr:  ������ N$' H
89�!	�� H
!+e� L�>��; 
.
'  

  L:  S� �P��� R�. H�A��RE!�0��.  

 H
I� J�K Mr��� ��DE9� ��RE!�0��S� �P��� ��
F 3�Es2�
��� �O"�� N$' +
Ae� L>��; 
#$89��� Q�� :  
(21)  Es2 = 600√Pt cosΨRc1Rc2(Fc)

2
DgRgFtFr/L2                  mV/m  

��F:  

 Rc1 �Rc2:  �
r��� H�S� �!
q�0
� *RE!�0��S� v
q�0	� 
.
�. 

 Dg:   *�
��� ����q�� T+S� -' 5P
"�� �'
8��� M.
'Fc
–17
8��9�   

  Rg:   v
q�0	� M.
�.� H
�E���w 
#���
��� T+U�J�  

  L2:  ��DEb *X }
�K R�. N$' M.
c +
Z�0�  

 �� �� 7��V0�Rc1 = Rc2 = Rc�  ��Dg = 1/Fc  ��G ���S� �8���� -. t��9� `.Es2���
��� �p���� 3 N&�� :  
(22)  Es2 = 600√Pt cosΨRc

2
FcRgFtFr/L2                            mV/m  

8.3.2  ��/
�� �F���  

 ��]���� -. J����. ��y+S� �P��� +
Z�0� �
�"O".ITU-R P.368�
r�� �	
O$�  : �O8�� %
.)70:ε �S/m 5:σ( �
 T+S��)22:ε �S/m 0,003:σ( �G
B� ������� )7:ε �S/m 0,0003:σ(L; ������ ������  :40� 50� 75� 100� 150 

�200� 300� 400� kHz 500 .������� �G
��� �� �8�0 L$4���� H
�q�!	
� ��y+S� �P��� H
f J�K l>�"' t���.  
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9.3.2  
����� �V�-�� 
�W� �BU  

�RE!�0��S� �P���� J�F�� JDE9� ��RE!�0��S� �P��$� �z
"�� H
I� J�K t�� ���DE9� �Rs�� 7��
"�!� � ���
��� ���
���: 

(23)  Rs
2 = Es1

2 + Es2
2 + 2 Es1 Es2cosϕ  

��F:  

  ϕ = 2π) ��DE9� ��RE!�0��S� �P���� J�F�� JDE9� ��RE!�0��S� �P��� �� }
�Z�� R�. H�A 2�G/( λ  

 �$89���� H
I� J�K t���R���RE!�0��S� ��P��� -' �z
"�� ���
��� ���
��� �� 7��
"�!� ��y+S� �P���� :  
(24)  R

2 = Rs
2 + G2 + 2RsGcosθ  

��F:  

  θ:   +�A �4�� ����mRs��y+S� �P��� �� �8�0 .  

10.3.2   
B@X 12��� 8�
�UY� ��
��@�� 8������� �7BM 8�
�UY 8���H40� kHz 60�Z�$�� ��&BN   

 �
qZ�� �8�16� 17�0	� �
�"O".  �P��$�� ��DEb� JDE9� ���RE!�0��S� ��P��$� �z
"�� H
I� J�Z� �y��E�� +
Z
 �����
� ��y+S�kHz 40 h
' ���xG �#K 3 
#!
�b < �
90 MqK N$' �$r���� �
�&��� ��� 5$��� `. ������ N$' 7
��� 7�+
� 

2004.  

  

  
 �����16  

 +?��/� )�@	 A�B C�(JJY $$�*��, kHz 40D	7�E +/;:*�5	 +��:�  ��	FG �HB = 2004 

0684-16

0

10

0 200 400 600 800 1 000 1 200 1 400 1 600 1 800 2 000

20

30

40

50

60

70

80

90

100

Propagation distance (km)

F
ie

ld
 s

tr
en

g
th

 (
d

B
 

V
/m

)
µ

Resultant of 1- and 2-hop sky-waves and ground-wave

Ground-wave

  

������� ��	
�� �
���� ����� ����� ������	�	��� ���	
� �
�

������ ���	�

�
��
�� ��
��(km)

 �
��

� 
��

�
(d

B
 µ

V
/m

)
 



 ��������ITU-R  P.684-4 

 

 

21 

 �����17  

 +?��/� )�@	 A�B C�(JJY $$�*��, kHz 40 +/;:*�5	 +��:� D��� ��	FG �HB = 2004 

  

  

 �
qZ�� �8�18� 19E!�0��S� �
P��$� �z
"�� H
I� J�Z� �y��E�� +
Z�0	� �
�"O".  �P���� ��DEb� JDE9� ��R
 ������ �"' ��y+S�kHz 60 ���xG �#K 3 
#!
�b < �
90 MqK N$' �$r���� �
�&��� ��� 5$��� `. ������� N$' 7
��� 7�+
� 

 h
'2004.  
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 +?��/� )�@	 A�B C�(JJY $$�*��, kHz 60 +/;:*�5	 +��:� D��� ��	FG �HB = 2004 

 

  

 �G
��� :�b �Oy�� ��Rp� i
";� ���9�� 5�9��� �y��E�� �
�"O"�� �� 7���P 7
9G��� �¯ �� jF
��600� km 700 
#�$� 
 +��9� N$'� H
f J�K ���!dB 107
8��9� .  

11.3.2   ������N 12��� 8�
�UY� ��
��@�� 8������� �7BM 8�
�U< 
����� 
�W� �BU 8���HkHz 6012��� ��&BN   

� �P��� �� �8�0 ��y+S� �P���� �z
"�� ��RE!�0��S� �
P��� �4�� �$89���� J+
Ke� +�A �4�� M�
9���y+S . �]+ �b�
 °�+
�� �$[��� H
I� J�K� �4���� �l;28 ���xG 2004¨O"�� 3 L$¤� 1�b���� t�F  MqZ�� 3 �8�� 20 Rp� o�lc� 

��b���� 
�#���9� �8�0 h���� H
4 +�&�� �4��� H
I� J�K . J+
K� +��9�!� ±�9�� J��E. �8"��� �9��A ��� H�9�� L#��8�� -.�
�� �.�41b��� ��+
K�� ��+
���� ������.  
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 7�I�	� )�@	 A��� J���	 )�K �!*�	 +?�5JJY $$�*��, kHz 60 +/;:*�5	  L�7�*, M�N�0 =28 ��	FG 2004 
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3  �W� �BU [�$=N 
\��F��� ����� E���� :>�� 6=��7�%�� �F�  

+S� ��������� �
P��� +
Z�0� ��
F 3 ��yELF� VLF� LF �� %
,E�� 3 �
P��� kl; ��On� �JR8c �
G
�. �� 
RE!�0��S�� T+S� . M����n�� LP�. M��� +�� %
,E�� �l; t�$��"LP��� M����� h�#E. " ��	�� J�Z�"�� �	
I� D�����

�G
���.  

 �9��A ����"LP��� M����� :�$!� "��� M.
q�� H
[�$� MF N$' H��^
����
��� L; /�>
�4 LP�. M���� =$�:  

@  rq� L>��Z' `�m���}
E�+	� ��	�� h��&]	� ����� �
0��S�� �
�0���q�e� �G
  

@  �8,$� �$�
b L>
��#c HD' 1�
�� ��O&! ���
���� JD�� ��V"�.� ��0
[�. T+� -. ��q. ¡�� �F . l4���
�S� |0
z� T+S� %
"²� +
8�'	� 3 �9��&�� kl; LF
"�� -�
8�� RE!�0�)Ly+S� L��&"p�� H
I� -' {�
"��.(  

t��
!S� -. �$�$! �� �'m�. LP��� M����� M4�� �b
&�� x��n� . -. JD���. �'��I �/0� *� ��"A ��
F :�$!� Mc Mr�
+���� -' J���8. �b
&�� �Z�"�� �"A ��� �RE!�0��S� N$' �
P��� ��+� 
���m .�� �� J�9��� 
���D(θ) o$� ��� Q�� 

 ����X 
���m N��n� 
� �8�"�
� ��
^�) ��"t��
!� .(" =>��A H
���!
� 
#�$' H��^� -q��"�$.
q�� �P��� " 3 �G�]���
 ���9E��1.3� 2.3 ��
^� ���
��� Mg �
O��� ��$�� )��$qZ�� ���
���:(  

(25)  01–)θ()θ()θ( == dd RRF   

��F:  

(26)  








=

⊥⊥⊥

⊥

)θ()θ(

)θ(θ)(
)θ(

||

||||||

dd

dd
d

RR

RR
R
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 }
E�+	� -. 7
b
&0� RE!�0��S� £F *�'
���� k
z	� 3 *RE!�0��S� v
q�0	� M.
�. �G�E�. L;d��F� :  

(27)  







=

⊥⊥ )θ(0

0)θ(
)θ( ||||

d

d
d

R

R
R   

 k
z	� 3 J�9��� v
q�0	� �G�E�. L;��
�� }
E�+	� -. dT+S� �&! k
z
� .  

 D�.���� RZ�|| �� R� R
– D�.���� RZ� 
�"�� *������ :
&9�!	� �� ⊥L9GS� :
&9�!	� ��  . �� H�S� �K��� =$����R 

��q�"�� �P��� :
&9�!� N$' �
r�� =8&"� 
�"�� ���+��� �P�. :
&9�!
�.  

 ����
��� ���F Mr���(26)� (27)L$� 
��G :  

  

||R||: 3 |q�"�� H
I� �8�0*����� |E0 3 �+���� H
I� �� ��+��� *���.   

  ⊥R⊥:  ��+��� *���. �� �.
���� �+���� H
I�� ��+��� *���. �� �.
���� |q�"�� H
I� �8�0  

  ||R⊥:  ��+��� *���. 3 �+���� H
I�� ��+��� *���. �� �.
���� |q�"�� H
I� �8�0  

  ⊥R|:  ��. 3 |q�"�� H
I� �8�0��+��� *���. �� �.
���� �+���� H
I�� ��+��� *�.  

 *RE!�0��S� v
q�0	� �G�E�. N$' H��^� 5��Rd �)���
��� (26)( }
E�+� �"' �d ��$y
E��� �	�
��$� L�b��� M.
q��
� 

#\
] Q�� ���� )"�
P��� +
Z�0	 LP��� M����� ���V0"( ��"� �|��� v�\�� �1961 . M.
q� 5�� ��$y
E��� �	�
���

�0�+ �9��&� @ -. 7
b
&0� �
A�c�+H
_³� M�
b v
q�0	� �� /b�G T��En� ��. }
E� . ���9�� *� �M.
q�$� ����S� ��
^��
 �� ��$]S�R x��n� � ���b 
�� N$'R �
�0���q�e� �G
rq� J��¤� ��80
B� �;
V�� 2�G ��Oy�� �Ec� RE!�0��S �$�
9�� 

���h��&]	� �� . �^� t�On�Rd
§
b
9�K�� |c��! ���
�. H�$^ 7
9G� .  

 ��$qZ�� ���
��� M�) ���
���(25) t��
!S� -. ��' *S ) �����l�� 
���D��θn (/�G t\�0 . 5�9�� �'��f -. 7
b
&0��θ Q�� 
H��^� 5�����
��� +
Z�0	� �
�$�. :
�F -q� �O"�� �l; N$' 
#�$'  :H��. M.
' +�A� }
���� +�&�� �'�!� �;���� 

J+
�e� .J���� �&90 �"' �+�&��� }
��	�� �
�e� H
I� :
�^ L$qK `� 3 �
�$��� kl; M����n� o�X ���.  

T+� LP��� M����� �� +
8�'� J���' �	
F 3 -q�@H
!+e� R�. H�A N$' ���
� +
Z�0� �>
�4 o$� RE!�0��� . +
Zn�
��7
�9G� ��0
[�. 
�� N$' �	
^� kl; 3 5�� Q�� L$qZ�� `�B� �
�
�F  . �8�"�
� -q� +
Z�0
� �J���� �
G
�. ��

R��� H�A N$' ���
� N98� ��! LP��� M����� �
�$�. �� T���G� L�b���� R\ -. ��q� . J�K� k
z� �� �H
r�� M�8! N$'
�� ��Rp�� Ly+S� L��&"p�� H
I�� -q� 3 ��Rp� ��� N$' LP��� M����� -. ¡�S� +��B� 3 �
�A
9� i
"; ��q� 

T+� ���^� �$��� �&8��. ����$� ��'�0 ���
���@ �g�´&9�� ��$B� . �'
��� t�F o�lc Rp�� ��RE!�0��S� ���
��e��
+
Z�0	� R�. H�A N$' |�Z�� :��\ �� }�$A �4 ��P�� M�E���.  

�
Y� ��LP��� M����� 3 JD���. ��Rp� t8�� Q�� o$� L; kl; �
�&9���  . +
8�'	� 3 l4�n� �� �	
^� kl; 3 �����
`&9��� �"' t��
!S� M��� +
�� . ���$!� {�"� ��! 
. LP�. M��� 5�$b� 3 �Z�"� 7���F� 7
��$!� �� t��
!S� M��� ¨���

 �M����� -. �4¥� 5�9�� 3 �rc� �� �� o�X ��� ���Z�"���M89��.  
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1.3   ���������� ?�%@�&� �Z��;7R(θ)  

 t��
!S� 1���� ���� 3 ��
F �$F�. ��
#���
"� Q�� v
q�0	� �G�E�. 5��9� 3 Mr��� �9�
��� J�9E�� R RE!�0��S 
7
����' |0
[�. R\ LF
"�� -�
8�. .�$y
E��� �	�
��$� L�b+ M.
q�� o�X 5������� 
#\
] Q�� �.  

 k
z� �� ��g J+
���� �
����Fe� h
V0 ��zRE!�0��S� 3 H�4��� �"' tP�. /0� N$' x��n�  .�x k
z� L; �8P��� 
� +
Z�0	�y+
Z�0	� *���. `. J�.
��. .  

 MqZ�� 3 �!�"�� Mr�n�21� /[�. `. ME!� -. RE!�0��S� N$' J�+�� �����. �P�. �8n� ��F  �P��K *����� 3 x-z 
)��+��� *���. ( *���. �"' ��+�θ1 *������ *����$� �8�"�
� ) +�¤�z .( MqZ�� �l; N$' �G���� ~�4S� ��Rp����

 L;Ω *������ *����� -. 7
b
&0� |�9�� Ly+S� L��&"p�� H
I� ����m )°180 ≥ Ω > °90 
�Z�� J�q�� ��"��(� �ψ �
 +
Z�0	� 1�)L��&"p�� H
�Z�� 2�K �"' .( �#[����BT+S� -. L��&"p�� =G���� �G
rc L; . 

�0�+ �9��&� ��$y
E��� �	�
��� M.
q� 5��@H
_³� M�
b v
q�0	� �� /b�G T��En� ��. }
E�+� -. 7
b
&0� �
A�c .
 �� ����S� ���9���Ro$� L;  �"���� ��E$�� t0��B� ~+X �"' �
�$�� D���� ����^� �y�� 7
�0
[�. 7�RE!�0��� M�
9� Q�� 

h��&]	� ������� �
0��S�� �
�0���q�e� �G
rq� .� �]
"�� J�
�m J�&4 Mc �0+
9� %
&4S� -. ��
�^� -�,n�R 
 �9��A H
���!
� ����¤��0�+@ o$� `. ������� �8���� -. 
A�c��0
r�� �8���� -. M.
q� �$F�. H
���!
� ����¤� . 5���

 }
E�+� �� ��� }
E�+� -. H�D�"�
� M.
q���d ���; ���� `. �d ���
��� �&!��� �(25) . +
��4� LEq�d 
� �,E�". 
Ly+S� %
"²	� +
�¥ �8�"�
� �E��y ��RE!�0��S� +
�¥� ��q�� RE!�0��S� 3 LEq� .���� 2�G� ��d ��F��� ��S� ��G �

}
E�+	� ��	�� 7
�&4 Rp�� ����. ��F
� H
4��� �
8�^� 3 l4�n� *l�� �Ly+S� %
"²	� ��� �; +
8�'	� 3 M4�� *l��.  

  

  
 �����21  

������ ���	
� ��
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2.3   ����� ��� 	
��
�� ������R
–
d (θ)  

 T+S� N$' v
q�0	� �G�E�. ��R
–
d �&!��� J
&��� ���
��� (27) �$9��. H�$F �&!��� ��On� �h1� h2 �8�"�
�  ���
��

|c��!:  

(28)  0

d

d

2,12

2,1

2

=+ zh

z

h

  

 �
������ ��Fh1� h2 �8�+ -. �
����. Mq"� �
���� 
_ 1/3) 	��� ��&4 �b
' 
�� �Airy.(  

3.3  ���
��� �� ����� ����!(“MODESRCH”)  

 �!� -. �rc� �� J�F�� -. ��q. H
I� �� x��� LP��� M����� ���V0 ��)t��
!� ( M����� 3 J+��¤� �
P��� *���.
T+� LP��� @RE!�0��� . ���
��$� H�$F �
u� �; L��>��� �����(25) ����l�� 
���D$� θn .�o�X =�9O�� �9��A M����n� 
 5!
� ���n�"MODESRCH."  

 �9��A ��"MODESRCH " 7
!
!� 
;���&� < Q��+
Z�0	�
P���  VLF� LF 
�0��� )kHz 10 ���F �� kHz 60 ( 3
T+� LP��� M�����@ ���
. �9&". *� 3 t��
!S� Mc �z �RE!�0��� �$�&��. ����l�� ����D$� �9��� %
,E�� 3 JR8cθn .

�7��P �$��&�� �
P��� +
Z�0	 *+��,�� ��F��� :�$!S� �
u�� o�lc �9��&�� kl; ���� . ���V0 N$' %��Pe� h�9�
J�9�. JRp�. . ���$qZ�� ���
�������
��� (25) ����l�� 
���D�� Mq� MOn� �θnT+� �
�$��� -. J
&��� �'��[�$�� ���#�� @

+
Z�0	� ����� RE!�0��� .�� h�9� �"��. J�9�. �E� �� ���
r�� +�&�� �
�"O". ��c N$' ����l�� 
���D�� -' �O8F(θ) 	 
	� ��&9�. ��q� �� -q� 
;�"' ��q� Q�� �
9"�� �"' 0 = F(θ) 
� �8�"�
� 
"��� ��q� Q�� o$� �� ∞ ← F(θ) . ���8��

 5�b -' �O8�� MqZ.θn ������ H��n� �F(θ) :
&b� N$' M��Z� 	 ��g  ~�! +
8�'	� 3 l4�� 	�0 = F(θ). -q� 
 H�$F �F� M�[��0 = F(θ) �&!��� θ0 �� *� θ0 �� �E] 0 = F(θ).  

-q��:  
(29)  F(θ) = FR(θr θi) + j FI

 

(θr θi) = Re (F ) + j Im (F )  

��F:  
(30)  θ = θr + j θi  

o�lc�:  

(31)  [ ] jθ½22 e)θθ()θθ(()θ( irIirR FFF +=   

��F:  

(32)  











=ϕ

)θθ(

)θθ(
tg 1–

irR

irI

F

F
  

�:  
  FR(θ):   J�9��� ������ -. L9�9^� %DB�F(θ)  
  FI

 

(θ):  ��� -. �
��� %DB� J�9��� ���F(θ)  
  θr:   J�9��� ����D�� -. L9�9^� %DB�θ  
  θi:  DB�% J�9��� ����D�� -. �
��� θ.  
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 ���
��� -. 7
b
&0�(32)�
c �X� �:  

 ϕ = 0° (or 180°)   �� ¨�� �l;� FI (θr θi) = 0  

�
c �X� o�lc�:  

 ϕ = 90° (or 270°) �� ¨�� �l;� FR(θr θi) = 0  

 MqZ$� +�&�� �&� N$' M�² �lq;22 . 7
��&b ��0 5��)�$]����� ��&�� ( +�&�� �
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&0� � .�&�� ��� -q��� ������ ��&9��� �

 �� �E] *�
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. `9� 5�$b� 3 +�A �
Eq�F(θ)�  �� 7��E] *�
�� ���� ���� 7
��V0 ��E�� -.F(θ) 
+�&�� �Ec� -. �'��[�c. 
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u�� ���� Q�� �9��&$� ��!
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�9��� *����� -. .�q8Z�� �
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�
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 �"��.ϕc = ϕ�-. ��Z.  �E] F(θ)MbS� N$' J�F�� J�. �E��� o�X N$' M��Z� 7
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Ec `&9� �� tu � . N$' J�
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 �E] *S -q� 	 �o�XF(θ) �l; +�&�� �4 N$' ��q� �� . H�F 1�
r�� +�&�� ��&4 �� �o�lcF(θ) = 0 h�9�� 	 
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��� :+
9�� |c
��� k
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� +�A �4 ���) �7
r.ϕ = ϕ (�� -q� �
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�y
�+ 
�#�b�. ���� M#��� -. ��q� .�  5��9�� �O8�� ~�[n�
�O8�� M�&��. ���F H�A N$' ��q8Z�� �
9"�� �"' .� D.��� Rp�� 
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9"�� A� D� G.( -' �O8�� -' 7
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��� k
z	� 3 ·��E��Mq� ~����� 
�$��� ����D�
� 7�%�� �'
��� :+
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Z�c� £F +�&�� �
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b
&0� �5�� l°180)  MqZ�� �V0�22 (

 �O8�� M�&��. �F ~�4� J�. H�]��� £F) �
�&9"��C� F .( ��O8�� ���F M4�� 7���P�. +�&�� �
Ec ��q� 
.�"'
 �&9"�� -' 7
r.C �� F �� H ( �0���n�� +�&�� �
Ec 5�!�� �b�� -' +�r��� 
;�"' < Q�� �&9"�� -' �^� -' �O8��

 �"' +�A �4 �4�°0 �� °180)  �&9"�� 7
r.A �� D �� G .( ��O8�� M�&��. �F Mc ·��E�� 
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 �����23  

 �	��	� ��	��� �� ���	� �����F(θ)  

 

 +�&�� �Ec� `A
9� �&!��� 
. �E] `b�. ���) MqZ�� �V0�22 .( �"' +�&�� �
Ec `A
9�G 7�X�°0 �� °180 �
Ec `. 
 ����$� �E] `b�. ���O�� ���� �4� +�AF(θ) .� �
Ec� +�&�� �
Ec �; T�p�� �l� +
���� �4¥� +�&�°90 �� °270 �

 ��q� 
.�"' ��� 
�S ����#�� ���n� �EcS� kl; �S ��A
�8$� ~�4� J�. 
;+
8�4� 5�� *l��Re (F) = 0.  5!+ %
"���
 +�&�� �
Ec°0 �� °180 ��G Re (F) J+
K� 3 R�p� ���O�� Lq8K `��. Mc �
c+� �"' �OEn� Re (F) �� N$' H�� 

 �"' +�A �
Ec°90 �� °270Lq8Z�� `���� 3 M4�  . Lq8Z�� `���� M4�� �E] ��P� H
��F� �� N$' ��^� �l; H��
+�
f Lq8K `��. 3 
�+ �� �l; .�� N$' M�² 
"0�G ��E] N$' *��� 7
�q8K 7
���. �� ���0 
.�"' `b�� �b� �rc� ��

 �&!��� �E������ L>��9�!� 5!+ ������ +�A� }
��� /�E0 1b��� 3 M��F(θ) .-���0 +��q� H�� o�X ���@ N$' ���G�+
�E��� `b�..  

-���0 �9��A Mr���@ ����l�� 
���D�� H�$F -. Mc H
���!� 3 ���G�+θn �� 7��
"�!� �z
"��  ��q8K"MODESRCH" MOc 
 ���θ0 ���
��$� (25) ��F 0 = F(θ) . -. ������ t�� o�X ���MP� -. ���P θ0 + δ θ  �� ��O���� N$' M�²�θ0 

���
��� -. 7
b
&0�:  

(33)  
)(θ–θ)θ(

θ)(θ
θ

00

0

FF

F

δ+
δ=∆   

 ���
��� �&!��� ��¤� ��O���� 5��9� 5�� l>�"'(33) �
���q�� aE�n� £F ��$���� +��q�� |∆θr|� |∆θi| ��
E�$� 7
9G� 
7
98�. ����� /� µ����� . ���K��� H��r� i �
��� %DB�� L9�9^� %DB� N$' ������ N$'.  
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4  ���� ��� ��	
  

1.4  �������� 	
��
��  

��� �����	� 
���
	� ����� θn�
��� ���� ���� ���
�
��	� ����� ��! ��	
"	� #�$	� �%� &:  

   '(�� )�� (�*	� ����    
rn

K

c
V

)θ(sin
= (34) 

     (�� )�� +,�"	� -.
/ '(dB/Mm)    :Γ = – 8,6859 k K (sin θn)I  (35) 

0�1:  

2���	� 3 4�5	� ���� :km/s 510 × 2,997928 = c   

  K = 




1 + α h

2
 (36) 

(37)  km/1014.3/2
4–×==α a   

 6�7	� ����, 
��8�"�� �!921 ;
<=� �, �5�"	� ;
<� �%� &z>� 3 ?$� (
7"@=� ;
<��  A�"�x-z . C�DE ;
<� F"�G��z 3 
 (
7"@=� ;
<� ����� H
IJ�� K���@����x� H
IJ�� y��
�"� H�(
7"@=� A�"�� ?�  . ;
< ���I� AL 6MN = �=
O� �%� ���,

y ;
< 6MN 
���	 &x 6�P Q� ���I� exp (−ik sin θx) 0�1 &k� ��� 4
5�	� 3 (
7"@=� RJ�"� S
��� T, θ	�  +. ����

(
7"@=� RJ�"� ;
<� ;
<�� zU�1�	� A�
�� C��>� (
��@=� E�(� 0�1 U�5�� ��*�� �*$@ ���  . #�V 6W �L '�"��
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"�(��Y �
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� ����� ��R� R
– 	
��
� ��� �� ������� ����� ��� ������
�� �� 	�!�"� #�$%�&� 	'��(� )*�+, -��.
� /0, d 

�1
�
� �2�3 . ��.516
� /�%78�B1� B2	����9 :  

(38)  B1 = 
S5/2

∂ F

 ∂ θ 

θ = θn

          B2 = – 
B1

S
  

 ;1<S 	18�=
� 	
��>
� ? 	10$@
� 	
3�%"� 	6.@� �A B)C"� ;1<� 	18�=
� 	
��>
� D�E F1! GA θn.  

H��8�&� F�I J
��%8 	����9 K��LM� ����, �5$78 �N FO.  


� P�Q 	1R�9)�$
� S����� P�1R�+L P�1R��A P���" T�U� P�9��< V�)!W �$� �2�3 H��8�� XN �+, 	%���
� GR��@%
� Y1!�.
�1
�
� .	
).��
�"� P�!�"� ��@.�� �I�@� 	Z�%� �$5"� �� ��$
 �=$A�/V�\' 	
).��01$
� ]��N �N V�\'] �N V�\'
V�\' ] X�.�"� ? 	���^.� �_ G!�� �1
3 K�+� ��1' �5%.�8 `
� ��NG6'�� . �$@
� ab
249 S����� GR�+L c�d�  	b�+
�

 `
� ��@.�&� 	��+e
 ��f� ��1' ��$z  ��5R�3���� ��g h�� i� �����%.� . ��.
��>
� �168γ� ϕ 	b�+
�9 ��)"� c�d� 
 P�1L��<M� D�j+
x� y� z.  

 �$@
� F�<24 ��E °0 = γT�8 �5+19 �X3�5, S���N GR�+L K��LW  °90 = γ G6'N S���N GR�+L K��LW /0, . /0, K��,
Q �k' l
ϕ��@.�&� c�d�� G6'�� S����� GR�+L c�d� a9 	
��m GA  . ��E �	n)* 	6
)�90 = ϕ � -��
� H�%oM�°90 = ϕ 

Gp)%
� H�%oM�.  

2.4   ������ ���	WKB
��
�� ��������   
G6'N ���d D�, �1
�
� ��� �� �������
q
 X3�5%
� ���^.
� D�, rW 	'�pW .��*�(2 �$�� ��@.�&� s9��L 	
�t.
 

� 	9).0
 	1,�� 	1
�(
W 	
�t8� ������
q
 	16'�� 	
�t.
� �, u.+8 �N /5j%
� K)R��
� T�v /0,/�� 	1<�w �N l
=I� ���
t"� T�U� P��t8 �,c�d&� �, �N Gp��� G�1�+ .G!�"� �1
�
� ��b.,� ��1' �$� & `
� P&��� ?� ��N] ������
N

, �$@
� �5%.�� �+�k' ���@.�&� ��� T�v /0, ��16'N ���^.� Y�N /0WKBS�0��� i5Z  . ���+, x1�3 BQ�5+
� �=A
��"� T�v /0, G�$
 �y 	1O��8 	10$@
� P�50%"� P��t8 ��$8.  

 S�0��� iz P&3�%� �, �b%.
� �$� �H��8�&� F�I� K��LM� ����, ;1< ���WKB 	'��� 	
&�9 ��@.�&�.  

��$9 {�9N hb(8 	
3�%"� �k' �����I �e�v /0, ��16'N ���^.� ��@.�&� ��� �N ��b.,� �$�N �QW:  
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
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 =
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T
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 P�!�"� �+, F1
���� K3�%.� ��@.�&� P&�| S��� 	t1(
� �5%.�78 �N �$��VLF� LF . �$� �5I c=A �5%.�78 �N
}��+
 	
3�%"� �k' �}��+
� �=A �� G0��
� V>Z� >1E `
� ~�C"� aA�.
� P&�%" ��)j� ��$
 ����! 	0
��
� P�!�"� 

K�(6
�� 	0
��
� P���"� P���oW a9 u.+8 �N �$� K�bI P�2��8.  
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3.4 ������ ���� ������ ��� ������� ���	  
��N G!�"� �1
�
� �R�(2 ��b.,� ��1' �$� & `
� ��@.�&� P&�� 	b�+
�9] T�5%.�� FO �V{b9 �t.
 Y�N /0, ������
N

S�0��� �
��.
 P�1+68 .0, xb�+8 P&�U� S��� 	
��)p S�0��� T�� P�V�)!W ��1' ��$8 `
� 	0����� P&���M� /
 �+, ���� �	9).0
 	1,�+
� 	1
�(
M� ? K�bI P��1t8 ��@.�&� ��� /0, ��� ���+, �N ��10
�� ���+
� a9 �*��
� {2 �,

)�b
� rW ���� �� ��)"� .� �� 3�%9 S�0��� �
�� BQ�� h5�
��0, ��1R�@, 	b8)"� F1
��/ 	�6� �� F��! �I 
G!�"� �1
�
� i�68 . GR��@, H��8�� �+, GR�9)�$
� T�^50
 	
3�5%
�� 	16'�� P���$"� S��� D�j+
� �=A h5�
 �5I

G!�"� �1
�0
.  

 S�0��� �
�� u���)9 D�6
�) ? K3���
� i!�)"� )j��AGARDograph ��� 326B 	%bv �.ه .� �).@
� .62-40 �
1990 ( �$@
� ? ��5"� P�6b�
� BQ�� /0,25 ._ �).�7
� c�d&� ? �t.
� S�1y X=
� #�$%�&� ��b.,&� ? =2�
 &� 

G6'�� ���^.
� D�, Ybb�
 . S�0��� ? K�<�
� �9�68 H��8� 	!�� 	1p)' l
=I� P�1p)�
� c=A ��=2N �QW�k ? K3���
� 
	6�+� ��)"� ) 	6b�
�NTR( �5%"� S�0��� �
�� ���%� �k' �p

k
a6b�0
  	b8)
� �� 	p S�0��� �
��.
 	b<�("� k /0, 

 S�0���j 	b8)
� �� 	6b�0
 	09�6"� P���%50
 ��6'� -�.
� ��+
� /0, Y+, �%
 �N �$� (p + 1)	69��
� :  
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  for p = NTR – 1 

(40)       

   ( )[ ] 1,
,1

1

1 +
+

1+

=

+ −−= ∑ pp
knpp

p
j

j

j

p
jk IxxSkia  for 1 ≤ p < NTR – 1 

;1<:  

  i =  ½
(1−)  

  k:  )�� V�\�
� ? 	!�"� ���  

  Sj:   	6b�0
 	18�=
� 	
��>
� D�E F1!p  

  j:  zM� 3�%
�G0$
� T�U� P��
�� ? 	5�� ��N �).�"� F1
��q
 -�.  

 	
3�%"� D�j� �< �!N ���(40)���$.
� �1168 ��"� �� �:  

(41)  zGAI
p
k
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j

pm
kj

d
,
, ∫

∞

∞−
⋅=   

 ;1<t� �,��"� ���%
� /0, T�8 p
G  a.��$50
 H��8�&� F�$
 	%9�N )*�+, P�Q 3�5, 	'��(�y� z P&�^50
 

"�� 	1R�9)�$
�t S�0�q
 	1�1�+k 	6b�
� ? p.  

 ��� �Wm
jAF��+� �,��� G!�� �1
�
 H��8�&� F�$
 	%9�N )*�+, P�Q 3�5, 	'��(� .  

  
 �����25  

 ���� ������	
��  

  

 S�0��� iz V�)!W ? T��� �A �5I� �)2N K)�WKB P�Q GR�9)�$
� S����� GR�+L P���" T�U� S��< V�)!W �$� 
�1
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� ? �� H��8�� �+, i68 GR��@, c�d� .�\' ��@.�&� �I�@� 	Z�%� �$5"� �� ��$
 �=$AV]��N �N V�\'] �N V�\'

�\'V ] 	
).��
�"� P�!�"� �+, ��N(VLF) 	
).��01$
�� (LF)���^.� �_ G6'N G!�� �1
3 K�+� ? .  

0684-25

M M – 1

Z

NTR
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XMTR XX
2

X
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 ��>15.� ����12 ��+A�?S�0��� �
�� V�)!W  . T�U� P�9��� T��� ��1�� x0%.
)���
�� H��8&� ( i��" ��"� 	
&�9
G6'�� ���^.
� D�%
 s9�L .��� ���
� ��1�� h5�
� /5j%
� K)R��
� #�� ��� /0, K3�g T�b6.�� 	�6� �+, T�U� P�9

 G6'�� ���^.
� D�, i��� 	
&�9) ���1�� ��1�� �=A ��$
 &&W 	1�1�+t"� P�50%"�� 	9).0
 	1,�+
� 	1
�(
M� s��I �QW 
t.� �_ 	1p�����"� /0, K� .(%7
�, �� K�<�
�9 H��8&� dB }�' 1m/VµH�%@"  kW 1 ���
� /0, 	
&�
� i� �

)�� V�\�0
 	b�+
�9 P�!��
�9.  

4.4  ��������� 	
��
�  

 P�!�"� P�33)8 P����� ? T�U� �1� S��� 	
��)\
� ������
�� P�50%� �WELF� VLF� LF 	����9 ��578 
 �	1
�.
� P�1+�+"�GA� ������
�� H��8�� /0, J��.8 Z :).$
M� 	'��$
� ��+� P���
�� 	'��I ��+�� 	1��) 	b!�"�

	b
��
�� ( P�1R>Z� a9 P�����*&� 33)8 ��+��)P���).$
M�]K�
�f� P�1R>Z� ( P���
�� a9 D���*&� 33)8 ��+��
)	b
��
�� 	b!�"� (K�
�f� P�1R>Z��.(  

 	
������
�� 	1
�(
M� �Wωr�I="� P�1+�+"� /0, 	5R�� �	0�� 	50%�  H��8�&� /0, J��.8 GA� c�,N K�Z . c=A /�%78�
	����9 	50%"�:  

(42)  












++==ω

++

+
)(ν

)(

)(ν

)(

)(ν

)(

ε)(ν

)(ω
)(

––

–

0

22

Zm

ZN

Zm

ZN

Zm

ZNq

Z

Z
Z

ee

ep

r   

;1<:  
  ωp

 

(Z ):  ��m�b
� 33)8  
  q:  	1��).$
M� 	
�5��  
  ε0:  )�� V�\�
� 	1<�w  
  νe:   K�
�f� P��
>Z�� P���).$
M� a9 P�����*&� 33)8(s

−1
)  

  ν+:  a9 P�����*&� 33)8K�
�f� P��
>Z�� 	b!�"� P���
��  (s
−1

)  
  ν−:   K�
�f� P��
>Z�� 	b
��
� P���
�� a9 P�����*&� 33)8(s

−1
)  

  Ne:  ��).$
M� 	'��I P�(cm
−3

)  
  N+:  	b!�"� P���
�� 	'��I (cm

−3
)  

  N−:  	b
��
� P���
�� 	'��I (cm
−3

)  
  me:  ��).$
M� 	0.I  
  m+:  	b!�"� P���
�� 	0.I  
  m−:  	b
��
� P���
�� 	0.I.  

 	
).��
�"� P�!�"� ��@.�� P&�< �j%� ?(VLF) 	
).��01$
�� (LF) ��+�� 	1��).$
M� 	'��$
� P�1+�+� K�,�)� G�$8 �
K�
�f� P��
>Z�� P���).$
M� a9 P�����*&� 33)8 . 	50%"� �.%78 �N �$� �	
��� c=A ?�ωr

 

(Z ) /0, 	1
�(
�
  �e �N
��1�N ��$o:  

(43)  ωr
 

(Z ) = ω0 exp [β (Z – H′)]  

;1<:  
  β:  H��8��
 	�I�%"� P��<�
�9 B��.
� 	50%�  
  H′:  G%!)"� H��8�&�.  
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 ��+� GA S�����9 F1
���� 3�%.� ��@.�&� S��< u��)9 ? T�23 P�1�%5I 	
��)\
� 	
������
�� P�50%"� �W
�� 	1��).$
M� 	'��$
�K�
�f� P��
>Z�� P���).$
M� a9 P�����*�
 G616�� 33).
� ��+ . 3���� c=A G�%� �N �$��

 	����9 ��10, 	
&�
�� H��8�&� i� 	1�N P���,(km
−1

) β� (km) H′.  

 P���).$
M� 	'��I 	51� F��78N (Z ) (el/cm
3
) H��8�&� 	
&�9 (km) Z	
3�%"� 	����9 :  

(44) N (Z ) = { }1.43 × 107 × exp (–0.15 H′ )  { }exp (β – 0.15) (Z – H′ )                 el/cm
3
  

	����9 P�����*&� 33)8 ��+� /�%7
 �P�9���� ��)_�:  
(45)  ν (Z ) = ν0 exp (– α Z )  

;1< :  

  Z:   H��8�&�(km) 

 ν0:  11
10 × 1,82��*&� P���/	1��L  

  α:  1−
km 0,15.  

)8� 	1��).$
M� 	'��$
� �� 	b1I).
� c=A G�%8�� 	1
�(
M� ��+� P�����*&� 33	
3�%"� Y1�%8 X=
� 	
������
:  
(46)  ωr (Z ) = 2.5 × 10

5
 exp [β (Z – H′)]  

��%' h5�
 Y��I ��� Y61b�8 	
��� �� {1�b
� X������
�� BQ�5+
� �=A K�R�' ib.8��1b
)d 	�16� P�1�%� BQ�� V�@�k9  .
 a.50%"� �1� �
�� �.
β� H′ T�(�� �< K�2�� c=A P�50%� {b\9 	
)j+
� P�9���� uR�.�� 	�16"� P�1�%"� 	���6y 

�1! x'��8 /0, .��6+
� �� �bI 3�, ? 	�16"� P�1�%"� i5^78 ���+, K)o�b� )�I�� 	���6"� 	6
)v /0, �(�7
 ��� /0, 
��)"� �5\.
 X=
� /5j%
� K)R��
� #�� ��@.�� .K)R�v �� /0, �� �IN 	
���9 P�1�%"� i5^78�.  

=5+
� �� ������.� ��
������
N ��E )I=
� x9�� V�)!M� 	����9 K3�f� 	
������
�� BQ�5+
� �N ��b.,� ����5, FO! 	
+I�� ��I ������
�� �N ��).'� /0, D�68K)R��0
 x10� K).' XN T�2 �� . ��@.I� rW P�1�%"� J11$8 V�)!W ���
�

	�16"� P�1�%50
 }��+
� i��� {�C"� i� x'��.
 	'��"� 	
&�9 H��8�
 S��g {�� . 3�, ��)j
� c=A ? /,�)
�
	���.� 	51� ? 	\�C+"� H��8&� P��t8 �� �bI .oN P�1+�+� �N ab.
 �N �$5"� ��� �$@
� �� ���16%8 )�IN T�$

 ��@.�&� P���� �N �y� �$
 ���1<�� ~%9 ? 	�16"� P�1�%"� i� )�IN J1$.8 G���	����
� H�p�� �k' ����! 	0
�v 
��"� H�5U �����.� ��+� 	616�� ? ��$
 P�1�%"� i� )�IN J1$.0
 �5(� ��+� XN.  

)�1."� 	�16"� P�1�%"� �10� �).6
 	
).��
�"� P�!�"� ��@.��9 P��b+.0
 	1
�.
� 	
������
�� P�50%"� K(VLF) 
 	
).��01$
��(LF) . �5%.�
 ����+0
 	b�+
�90,3 = β� 74 = H′T�(�
� �I� �)%
� ���2 �$
  . G010
� ������
���

 	516
� �� ���16%8 )�INβ �� �33).
� i� ��1�2 �t.8 kHz 10-0,3 rW kHz 60-0,8 .�� >15.
� ���2 �+, G010
� ������

 	5169 	���."�� 	\�C+"� �)%
�H′ X���8 km 87 X���8 �5+19 H′ km 80q
 	b�+
�9 ��6
� ������
 . T��Z� D�6
�3 

 33).0
 c=A T���M� P�50%� �1�kHz 30 . �%
 Gp�).'� ��� T�v /0, 3��78 �5I P&�6.�&� T��Z� �=A hp�
�
6
��10
� rW ���+
� �� F�.  
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 �����3 

 ��� ������	
� ��
�� ����� �
���� �
����kHz 30 

 ���	
�� ����
��  
 ��	���χ 

β 

H΄ 

(km) 

 ��
������ ����D 

    χ < 90,0 0,3 74,0    D < 70 

 90,0 < χ < 91,8 0,33 76,2  70 < D < 72 

 91,8 < χ < 93,6 0,37 78,3  72 < D < 74 

 93,6 < χ < 95,4 0,40 80,5  74 < D < 90 (Pole) 

 95,4 < χ < 97,2 0,43 82,7  72 < D < 74 

 97,2 < χ < 99,0 0,47 84,4  70 < D < 72 

 99,0 < χ < (���	) 0,50 87,0    D < 70 

 

8���+0
 	1��� P�1+�+"� �� a%� 3�%
 H��8�&� 	
&�9 K>15"� 	��%
� hp�. �$@
� ? 26 ��10
 �$@
� ? 27.  

 P�!�"� ��@.�� �� �51'�(ELF) �$@
� ? P���
��� P���).$
M� 	'��I P�1+�+� ��578 �28.  

 a
��Z� ? l
=I 3)84� 5P���
��� P�1��).$
M� a9 P�����*&� P�1+�+� �, P&&3 .  

 

  
 
��	�26  

������ ����! "#�!��$�%� "&
'$�� �
#�� �() �
���*+,
��  
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FIGURE 26

Daytime electron density profiles and collision frequency profile
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 �����27  

����� ��� 	
���
��� ����� ���������� ��
���� 	
�����  

0684-27
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3

FIGURE 27

Night-time electron density profiles and collision frequency profile
H

e
ig

h
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ν(
) = 1.82 × 10

 exp (– 0.15
)
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11

β 
 

= 0.5 km , = 87 km
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 �����28  

 	
����� ���!�!"#� 	
�!��)$���� $�%
&(  

  
0684-28

0

50

100

150

200

250

1 1010
– 1

10
2

10
3

10
4

10
6

10
5

a

b

a

b

aN

N N

N

a:

b:

��������	

�����


�
���
����

����� ���	
 (cm   )–3

 

 �
��

��
�
�

(k
m
)

�
��

��
�
�

 
(k
m
)



 ��������ITU-R  P.684-4 

 

 

38

 �����4  

 	
����
�� � ������ ��� ������ ��������� ����!"  
 ����
��# ���#!�$�%� &'(s

−1
) 
"��� ����'(�  

(�
"��� 

(km) 

���#!�$�%� �)*��� ����
�� �)��+�� ����
%� 

260 6,6 × 10
2
 1,02 1,02 

230 5,3 × 10
2
 2,00 2,00 

210 4,8 × 10
2
 3,10 3,10 

200 5,0 × 10
2
 4,00 4,00 

180 6,0 × 10
2
 1,30 × 10 1,30 × 10 

170 8,0 × 10
2
 2,40 × 10 2,40 × 10 

150 1,6 × 10
3
 9,00 × 10 9,00 × 10 

120 1,0 × 10
4
 6,00 × 10

2
 6,00 × 10

2
 

100 3,9 × 10
4
 1,60 × 10

4
 1,60 × 10

4
 

0 4,3 × 10
11

 2,14 × 10
10

 2,14 × 10
10

 

  

 �����5  

 ��� ������ ��������� ����!",�-�� 	
����
�� �   
 ����
��# ���#!�$�%� &'(s

−1
) (�
"��� ����'  

��(�
"� 

(km) 

���#!�$�%� �)*��� ����
�� �)��+�� ����
%� 

250 1,05 × 10
2
 4,50 × 10 4,50 × 10 

225 3,50 × 10 9,00 × 10 9,00 × 10 

220 3,00 × 10 1,00 1,00 

210 3,30 × 10 1,30 1,30 

200 4,50 × 10 2,00 2,00 

150 1,60 × 10
3
 4,50 × 10 4,50 × 10 

120 1,00 × 10
4
 3,00 × 10

2
 3,00 × 10

2
 

100 3,90 × 10
4
 8,00 × 10

3
 8,00 × 10

3
 

0 4,30 × 10
11

 1,07 × 10
10

 1,07 × 10
10

 

 

5.4 ������ ����	
����
 ������ ��������� �������  

 ���	
��
��� ������ ������ � ������� ���� ���� ��!" ��#�$
 %& ���' (�)*(LF) ���	
��+��� (VLF) 
�� ��,-� �����(ELF) :�� ��.� /��� 0�1� 234 5�� 6�47 5�� 6�4 6�89� ��;	�<� +�
 ��, =�> ?@�-� ?�
A)

��;	�B� C#$	��� DD�	�� ��<�E F�G� �H$�� ?I�E�J��� �K$�� LE�M �#
� ?�$4.  



 ��������ITU-R  P.684-4 

 

 

39 

?�
�)7�� ��.� O��4� � ?@�-� ?�
�)7�� ��.� 234 5�� ��#�$�� CP#	4 ?�
�)7�� L#���� ?@�-� ) �������E
��#;�� R�� (?�
�)7�� ��.� TU	� ?HV-� W�	�#�� �X�)��E ��
H�� C
�� ����Y� ��;	�<� 0�1< . =�> ��#�$�� 08* +7	4

 �7
3�� � ��+7	�� 08* Z
�[4� ��;	�<� +�
 ��,WKB����-� C��\ ]
^ � �" .  

�� �
X�)�� �
'�#��� =�$[4 _F�G� /�H$Ng�����E _:  

(47)  
0

0
εω

σ
–ε/ε iNg =   

`
' :  
  σ:  �E�	�� �
>�)�� �
��3���  

  0ε/ε:  F�G� �
X�)�� �
'�#���  
  0ε:  ��� a�bc�� �
'�d  
  ω:  ��;	�B� W��K�� DD�	��.  

$� ����� ?�1��#�$�� 08e �f =^��� g
H�� .  

5  ������  

 ����" �	H��, C#$	�[4 h" ij"��KcH�� " lI��, ��
	4 h" %& �
^�	�� 08* � �
�
3c	�� ������� �>�@�
 �
���� ��D-��
 �����)�� ��.� ���;E mX)	�� CbV" C�-� n
kHz 150 o�X��H4 .<� Z
���E ��#$	�� n�p �#)
E� ��D-� ����� i�' ��;	�

����
 ��,-� ������ ��Uq mX)	�� �
^�	�� 08* � �V�^��� �(ELF) (Hz 3 000-50) r�E" lI��, ����4 s �� T�tV _
R��)�� �8* n
 uD-� aKU��.  

 lv��� � D�4�2lI����� ���� �Xb	H
 �;��)
  . lv��� ?�$��3�> ��3�� s 5�� �#J�� ZI�	)�� w$E  Z
���E ��#$	��E �J

Z
��x�� �8* /�I�V y
@�4 z�f 6�{� _�
���� ��D-� ����|E ��;	�<�E mX)	��.  

  

  

 �����1  

 ���	�
 ���
 ���� �� ����)���
�� ������ ( 

 ����
� � �!���
� "�#��
�$ ��%&'�� *�+�, �-.�&$2 

  

�� �B! 2
3�� � o���} ~��	�� ��.� ���' ������ n
 ����-� ��
I�)M ��#$	��E �
��	�� z��A�� � �
���� �
�#;�� /���
��XH	�<� ��
I��*� /+3H�� ��D�#$��:  

+��� ��,  d = 1 911 km  

DD�	��    f = 80 kHz  
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 x�� � ������ ~��
   







=

×=

0

3–

ε15ε

S/m102σ  

�vX�� � ��XH	�<� ~��
   





=
=

0ε80ε

S/m5σ  

�$;�� /��H��  pt = 0,4 kW  

?�� �#
V ���v�� �
��		�� C'���� CP#	4: 

������ ������ 	
��� 
��������� � ������

 01 pt = 0,4 kW  0,4300V
u

=  = 190 V 

 02 d = 1 911 km 2 ψ 

i 

≈ −0,36° 

= 81° 

 03 ψ = −0,36° 8 Ft = 0,36 

 04 ψ = −0,36° 7 Fr = 0,67 

 05 d = 1 911 km 

c = 3 × 10
5
 km/s 

4 L – d 

L = 1 911 + (46 × 10
−6 × 3 × 10

5
) 

= 46 µs 

= 1 925 km 

 06 d = 1 911 km 5 D = 2,16 

 07 f = 80 kHz 

i  = 81° 

 f cos i = 80 cos 81° = 12,5 kHz 

 08 f cos i  = 12,5 kHz  

   _�
���� �
�#;�� /�����
 ��J)��)2
3��( 

10 ||R|| = 0,11 

 09   Es = 11,4 × 10
−3

 mV/m 

 10 h = 70 km (��J)��) 
h = 90 km (C
���) 
d = 1 911 km (/�'�� /Kc�) 

4 �!|	�� = 67 – 47 

= 20 µs 

= 1,6 cycle 

   (i.e. 576°) 

   at 80 kHz 

  

 �����2  

�/���
� *0!  

  

 n
 ��Y �
�$�� �
$3�� =�> lHv	�� W���b��� o����" L
�� �}- ��KcH�� �H��, n
 ? F�> ���! �)> ��A'B
 =�>
� � ����	
� �#
��1� 2�<�34B� ����� D�\B�  . ��.� ���;� �
��� g
HE /�
� ���E mX)	��E Lvd �H����� h" +�

 g
���� � �$c4�
 F�> ���! �)>2 . ���	
��
��� ����#�� ��KcH�� �H��, C#$	�[4 h" n�p�(LF) ���	
�	�e�� (MF) 
H4 ��DD�	� �E �
 ~60� kHz 150o�X��H4 .  
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 �
@�-� ����� ��;	�� /�>��
 ij _�H����� 08* C#$	�[4 �
�)>) �
^�	��ITU-R P.368 ( ������ � ?I��e� C
�> /�>��
�
 O��H�� C
�D �� �
^�	�� 08* � /D����� ��
��$�� ��#$	��E 6�{� _��D�#$��ITU-R ���� E +c�����-�0+M|4� =�> 

	������D���� ������ ��;.  

 ���' �' ��.� ���;E mX)	�� ?���� C
���� �H��, ��#$	�� n�p�kHz 60 �	�+c�����-� �	#�$�� a��>tE _β�  H′ 
H��
 �	#0,3� 74  i�' ��+7	�� ��X	><� � 8!|4 �
V�@& ZI�	� =�> ��3�� ��A	��E _����J)�� ��+�#�� ���	�� =�>

;)��� C3c��DD�	��� ?�#;�� �� .F�$�� r!� DD�	�� ��<�E ?�
� �{�#)� oB
3c4 �P9" 2^� �
^�	�� 08* � D���.  

 �
��3��� �
��> ����! htV _F�-� ?* ?���� C
���� �
���� D���� h" �q�) �
^�	�� oBP
ITU-R P.832 ( h��4 h" ij
?��> l
X�	� T��
 Z
���E n
 o�aK� .
��3��� ����!� �E�	�� �
>�)�� � C#$	��� T���� ��;	�<� Z
���E � ����	�<� �$I��

�
����
�� �I�3�� =�> o����" ��H4 ��)9� �
���
-� /�v	�� ���<��� �.  

 n> �D�3�� C
���� gb�� O��� ����D���� �<�34<� ��!" lI��, ����D���� ����� ��;	�� =�> 0��M�� +c�����-�E ����
��� ���	
��
��� ����#�� oB
� ��.� /�� �LF �' �J��V �
� kHz 1 705 . �J
�> ��3�� s 5�� ZI�	)�� ����H
 �$	��

 �
^�	�� 08* � �'�	H�� �H�����E)��KcH�� �H��, (��!-� lI�����E �1�)�� 6�4 ~
 . �f |X)	�� ��.� ���� h" �E <�
 lI�����E> �HV��	
 h��4 ����X���f�;	
 ��V����� ��DD�	�� h��4 �
�).  

 ���Hq =�>" a�	;�� � �;	)4 5�� ���	
��
��� ��+c�����-� ����#�� ����J)�� g
H�� h��4�dB 20=�>   �J	�E�H
 n
 C�-�
 ���Hq <& CH4 <� 2
3�� � �;	)4 5��dB 10�
�
��� g
H�� n>  . ���	
��
��� ��+c�����-� ������ g
�� �P9" C
��� �

2����� ~
E��� � o�@�c�� �P9"� a�	;��� 2
3�� � o�>�c4�� . ���	
��
��� ��+c�����-� ������ ��� /�� ]�X4 �� o��J��
a�	;�� �J�" �B! �^�! o�;*�
 o�>�c4�� . ���Hq o�
�#> C�" W��J)�� W�)��� ?����� ��.� /�� �
"dB 20 0+A� n
 

?�
��� . ��K��0�9{ lE���� C
���� �$���
 =��� C
^�c	�� n
.  

 ���	
�	�e� ������ ��� /�;E mX)	�� ��KcH�� �H��, C#$	�[4 h" n�p(MF) ���	
��
���� (LF) ���' DD�4 �' kHz 60 .
 ������ ��� ���;E mX)	�� ?���� C
���� ����" �H��, C#$	�[4 h" n�p�VLF� LF ���' DD�4 �' _kHz 60 . �X��

 C�;��29 DD�	� �	H�����E �f |X)	�� o���} ��.� /�� kHz 60) �J$
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H
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� ��� a��� .(
 ��
)v)�� i�v[4���3	�� mX)	�� Z
���E �����E a�	�� 2
^ /�#���  C�;�� � ��#�$�� ��#$	��� ?���� C
���� ����|E

26 2
3�� )β=0,5 km
–1 �H′ = 70 km ( a�	;���)β=0,3 km

–1� H′ = 72 km .( =�> �H�7��� �'�	c�� �I����� CP��
��KcH�� �H���E �E���� ���	;��� �
c
3�� ��.� ���� ���	�� . W8�� C^�c�� � ��
�$�� �
�#	� ����� W" (�)* n�4 ��

c� ��{ ��+c�����-� ����� iUv[4 `
' ��V���� T
V i9��	4�4Kc� ��{ ��+c�����-� ����� n#
�� /�'�� /K . �JA4�
/�' =�> �
@�-� �����.  

��+c�����-� ������ �
@�-� ������ ?���� ��.� ���� ?���� C
���� �H��, y#�4 . g

H	E ��KcH�� �H��, y#�4�
rHV ��+c�����-� ����� O��4� . � �
@�-� ����� ���[4 h" ij �8������H
 a���& � �)X�� �{& ��KcH�� �H��, . ���

 x$� �V����V � ?@��	V� C��
 n
 o��B��� ?H
H' +�� �V���� ��<�E ��.�E mX)	�� ?���� C
���� �H��, L�#$	�� ��)9
 �
���
-� /�v	�� ���<������7�� %& R�;�� n
 .� �8* ��, =�> /+7	
 �E�	�� �
>�)�� �
��3����+�� .F�	c[4�  �H��,

 �
��3�tE _����	
 o�@�" ��KcH��mS/m 3+��� ��, =�> .  
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 �� ����� �	
��� 
������� ��������� � 
����� ������ ������ ����! ������ �
�"���� ����# $�% &��'��( )�*+� �  
( f cos i) .,�� -/���� 0��1�� ��2(34�� 5����� 64+78� ��'�1� 8/��� �1����� 9:; 5<����� =>2��� =+*? @A� . �:B ��2(

 ��<+��� 5<���� 0��1C��)β( H′ (�F���4�� G  5H'��26 . ���� �I9J!K �42:�� �:L� . =+*��� @A���� -/���� MHN ,(
 ��<���� 
�<��7�� OP4�(0,3( 74 ��<+�<+� Q�4��� O+! β( H′
4*��� 5H� .  
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 =34�� 5����� $���7K $�% ��'�1,� 0��1�� �K R�S4�� 
����L� T�� UV+�� �:B M<W��) X����� �Y1�3.4 ( 8/���
 @�� �Z�*[ ��+���� 
�S���?,� \� ��?�4�� 
�] 
��'�)��S�K ����*�	 (�^�(=��_�A�� 
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 5H'�� 5aN30 �������@�� 
�34<+� =S���?� 57�� Q�<'�� X�H�� )*1 ��_AF (VLF)���2 b7( G ����4��  . c�`dF(
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 �W�n��� ����*�o� M! 0��F p�� 
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��� X���q h�W�K g%J1(

7�4B 0�+r G �V/�� &�� X��s������ ��4t���� ����*�o� \� �1�j� �_�u� ����<'�� ��/_��� =S��v� �.  

�<�� ��'�1,� @�� w4<] 
4# O+! ����+� ��!4��� ����*�o� �K �rx 
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�"���� ����_� �/����� ��K
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